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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Write the expansion of  (1 + x)n.
2. Show that 


3. Define unitary matrix.
4. State Cayley – Hamilton theorem.
5. Find the eigen Values of the matrix 
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6. Prove that 
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7. If 
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8. Write the real and imaginary parts of cos (X + iY).
9. Prove that Cosh2x – Sinh2x = 1.

10. Prove that 
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11. Find the Value of y when x = 4 from the following data.
 X:      3
 5
  7
 9

Y:     90     120    150      180.
12. Write Newton’s backward interpolation formula.

SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.

13.
Sum the series 
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14.
Show that the following matrix is orthogonal 
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15.     Verify Cayley – Hamilton theorem for the matrix 
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16.      Prove that 
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17.    Evaluate the following 
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18.    Prove that 
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19.    Find the Value of y when x = 4 using Newton’s backward interpolation formula.
	     x:
	0
	1
	2
	3

	         y:
	      1
	      2
	      1
	10


SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions.

20.   Show that 
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21.   Find the eigenvalues and eigen vectors of the matrix 
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 22.   Prove that 
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23.   If 
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(a)  
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(b) 
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24.  Using Lagrange’s interpolation formula find y when x=8  
                x:
  3               7
  9
10
                y:
168
120
72
63.
———————
[P.T.O.]














PAGE  
1

_1260657191.unknown

_1260658151.unknown

_1348274520.unknown

_1520774895.unknown

_1260665617.unknown

_1260665887.unknown

_1260665920.unknown

_1260665722.unknown

_1260658525.unknown

_1260657668.unknown

_1260657820.unknown

_1260657326.unknown

_1260656158.unknown

_1260656910.unknown

_1260657010.unknown

_1260656530.unknown

_1260655923.unknown

_1260656061.unknown

_1260655836.unknown

